SECTION A (40 marks)
r all the questions in this section in the spaces provided.

ents a nucleus.
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(b)  Name the plant cell organelle:

(i) that stores chlorophyll (1 mark)

................................................................................

(i)  responsible for intracellular digestion.
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e aﬁ the end of the treatment. (3 marks
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(b)

(c)
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Explain the results obtained if a red blood cell is subjected to the same treatment.
(3 marks)

Expiain why transfusion with distilled water is not recommended for a dehydrated
patient.

(2 marks)
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e process named in (b) (ii) above occurs.
| i . (1 mark)
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(2 marks)
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ne responsible for the development of secondary sexual charact{ |
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I ’
arple colour is dominant over the gene for white ¢
lour was crossed with a heterozygous bean plant.

olour. A pure breeding

to represent the gene for purple colour, work out the genotypic ratio of
£ (5 marks)
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SECTION B (40 marks)

Answer question 6 (compulsory) and either question 7 or 8 in the spaces provided after question s
6 Inan investigation, two potted plants G and H belonging to the same species were exposed to

MMMGMWNTMNT respectively. The rate of
photosynthesis was measured for each plant and results recorded as shown in the table below
e
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e v forplant Gat 30°C | 0 | 84 | 148 | 196 212 zwlzul-w
P T |
photosy hesis forplant Hat 20°C | 0 | 72 [ 115 | 148 IWIIMEZN,'IM
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(8 marks)

- hs of rate of photosynthesis against light intensity for plants



(b)  State the aim of the investigation. (1 mark)
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(c)  Account fbrﬁp difference in the rate of photosynthesis in the two plants. (3 marks)
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: mid one external factor that could be limiting in the investigation,
! (2 marks)
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forest ecosystem with reference to the following:
(20 marks)

ly adapted to its function. (20 marks)
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